Key Description

1. Short press "enter key " to turn on.

2. Long press "enter key " to shut down.

3. Press the "set key" to enter the setting state, then press the "select key" to
select different functions, and then press the "enter key" to enter the
corresponding function.

4. Enter the resistance calibration/voltage calibration state. At this time, the test
line should clamp the calibration resistance or voltage, press the "set key" to
select the gear to be calibrated, and then press "+" and "-" to adjust the
displayed value to be equal to the calibration resistance or voltage , Press the
"select key" to select "ok" or "Cancel", and finally press the "enter key " to decide
whether to save or cancel.
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As can be seen from the table below, the larger the battery capacity, the smaller
the internal resistance. It is generally believed that if the internal resistance of the



battery is greater than 1.25 times of the factory standard, it indicates that the
battery has been severely aged and needs to be replaced in time.



Reference Table For Battery Internal Resistance Measurement

Serial number|  Capacity Voltage Resistance
1 0. A4h 12y 120mid
2 1. 34h 13V 103m&
3 2, 34k 13V 83, Tmi
d 3. 34h 13¥ B5, Tmid
g 4, 1ih 12¥ 46, Ipl2
B Sah 12¥ 37, dm(2
7 Bah 12V 30, Imi:
] Tak 15V 25mid
] Sk 13V 20m)
1 En 13V 15mé
11 104k 13¥ 1B, Tméd
12 128k 12¥ 1¢, dml2
13 144k 12v 13, 6ms2
14 154k 10 1 Emkd
15 174k 13V 12, 1pl2

16 184k 13V 11, del
17 208k 13¥ 10, Bmid
15 2dih 13 9, Bmé
13 254k 12¥ g, Eml2
an 264k 12v 9, Fmid
a1 2EAk 12V 8. Smid
a2 3Lih 13V g Bmi
23 358k 12V g, dmi
24 5Efh 13¥ g, 2mt
25 408k 13¥ 7. Smil
26 BOAk 12v 6, Emld
a7 BEAl 12v 5, Emld
PE] TEAk 15V E bl
29 Btk 12V 5. 3m&d
0 BG#h 12% Smi

a1 1004k 12¥ 4, 5mé
3z 1204k 13v 4, Fmid
a3 1504k 12v Amid

34 a0nsk 12y Imid

a5 2304k 12V Fmit

96 2504k 12V 1ms2

a7 1. 34h BV ECm{

I 2. 94h BV 40me

a9 3. 24k BV 28, 5ml2
an 44k BV 24mil

41 Gk A 18, Smid
az Thk BV 14m<)

a3 104k &Y 12m&

a4 1104k Y 4, 3mfl
a5 2004k BV 1. Tmid
a6 1004k v Lmit

a7 1504h v 0, 83mi2
as 1704k oy 0, Thmi2
a9 2004k oy 0. Tm&d
Ei 2504k oy 0, 68m
E1 J004h oy 0, BEmbd
52 3504k oy M, Emid
53 a004h v 1, Emid
B4 4204h 2% 0, 48m2
13 a504h oy 0. 4hmC2
E& 4824k oy 0. 43mC
ET Ei4h oy 0. dméd
g f04h oy 0, 32p5d
59 g00ih 7y 0, 2dmi2
B0 10004 v M, Zmid
hl 1500&R oy 0, 16mid
[ T00 04 oy 0. 19
g3 20004 7y 0. 11mt




